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LA has 20 questions LHIT}"II‘I.E |
A B has 5 questions r.urrymg 02 marks nm:h
o Sectio Chuuﬁqumiqnu currying 03 marks cach.
v ':iccrmn D has 4 questions carrying 05 -.--g S each.
v Section E has 3 cose<based questions (1 'jr'-'g_'__.._-',_-_. irks each) Wi
Vi All Questions are compulsory, Al
vii.  Draw neat figures wherever fectuived

SECTION A (1 * 20)

1. The value nf‘(iﬂ)z 18

.a) = b) 2 ¢) -4 d) 2i
5 The minute hand of a watch is 3cm long. How far does its tip move in 20 minutes
a) 12.56 cm b) 3.14cm | 8 cm
41 .
3. The value of sin (—- =) s _
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4, The solution of inequalities 3x — 7 > 2
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v relations that can be

d) 6
'1 . are given: one labelled
.+ the correct gnswer from the

, Reason (R) is the cormrect

S &

o Reason (R) is not the correct

s false.

1S true. 10 10 :
“-..Pll‘hl[‘lﬂ of (x — }"} L (x i is 6

b)" s n

expansion of (@ +

4 wickets In @ Singlf: over of 6

:| a 1"1' l.lt?]" [1!‘»'-“.

¢ of r objects Out of n distinct objects is "Pr
8 in which quadrant ( ) lies?
1l d) IV

C)
h 21 points on a cirele?

e universal set, write down the complement of

jeorem.

be formed from thl:ﬂlgﬂ 1 y S




: SEC
of water will have!
ssulting mixture wi
'- J = COS3X COS Ef

.1125 litres of the 45% solution of
more than 25% but less than 30% acid

s 0f the equation |1 — i|* = 2%,

un ,ua integral’
I8 cos?x - |

e . X x X
.,:.rT{ : Elﬂ o= <3 c -
T cos - and tan = .
. Inhow many ways can a team of 5 members be
atleast one boy and one girl (ii1) at least 3 girls?
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35/Find the value(s) of 8 for wh; N
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SECTION E (4 x 3)

36. flam is playing with scramble word cubes. She needs to form words using all the
etters of the word ‘ORGANIC’ without repetition of letters.

In how many of these words:
a) Vowels and consonants arc a

b) All vowels are to gether
c) Vowels and consonants occur together

d) Words begin with a vowel
ed by adding a 2% boric acid

on of 8% boric acid is to be dilut
g mixture i to be more than 4% but less than 6% boric acid.

Iternate with each other

37, In an experiment, a soluti
solution to it. The resultin




"_n'e if each cricket team of 11 includes exactly

is to be constituted from a group of 2 men and 3
0 this be done? How many of these teams would



